World War I (WHII-10)
World War I (1914-1918) was caused by __________________ among industrial nations in Europe and a failure of _______________. The war transformed European and American life, wrecked the economies of Europe, and planted the seeds for a second world war. 

	Causes of WWI (10 a,b)
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· Militarism

· _____________ that divided Europe into competing camps
· ________________ feelings
· ________________
· ________________ failures
· Competition over ______________



Expanded Information

· In the years before WWI two powerful alliances, the Triple Alliance (Germany, Austria-Hungary and Italy) and the Triple Entente (Great Britain, France and Russia) formed.
· Nationalist feelings in Serbia provided the “spark” that started the war.  Archduke Ferdinand was assassinated by a Serbian Nationalist named Gavrilo Princip who hoped the assassination would help to build a “Greater Serbia” that united all of the Slavic people in the region.

· As imperialist European countries tried to gain access to new markets and raw materials they competed against each other.  This competition further fueled the growth of nationalism and helped encourage the growth of militarism.

· Militarism is the glorifying of war and relying on military strength to solve problems.  Before WWI, many European countries began stockpiling weapons and building up their military.  
	Major Events and Leaders of WWI (10 a, b)

	SOL Essential Detail
	Expanded Information

	Assassination of ___________ Archduke Ferdinand


	· June 28, 1914, in Sarajevo, Bosnia, by a Serbian nationalist.  Ferdinand’s death activated a chain of alliances and led to world war.


	_____________________ enters the war


	· The U.S. remained neutral for three years but finally entered the war on the Allies side in 1917 as a direct result of the German use of submarine warfare.



	_____________ leaves the war


	· Vladimir Lenin arranged, in the Treaty of Brest-Litovsk with Germany, for Russia to end her involvement in World War I.


	________________________

	· President of the United States during World War I.  

	________________________

	· The leader of Germany during World War I.

	What were the outcomes and global effects of World War I? (10 a, b)

	· Colonies’ participation in the war, which increased demands for ___________________
· End of the Russian Imperial, _____________, German, and ______________________ empires

· Enormous cost of the war in lives, property, and ______________________



	What were the terms of the Treaty of Versailles? (10 a,b)
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The Treaty of Versailles ended WWI with Germany forced to:

· Accept __________ for the war

· Give up ____________ (such as the territories of  Alsace and 
       Lorraine to France and land in eastern Germany to Poland) 
· Pay _________________ (payments for war damages)
· This treaty also limited the German ____________
· ________________________ (This is an organization that you will study in WHI)



The Russian Revolution (10 c)
Tsarist Russia entered World War I as an _______________________ with sharp class divisions between the nobility and peasants.   The grievances of workers and peasants were not resolved by the Tsar.  Inadequate administration in World War I led to revolution and an unsuccessful _______________ _______________.   A second revolution by the _________________ created the communist state that ultimately became the ______________ 

	Why did Russia erupt in revolution while fighting in World War I? 


· Russia was defeated in a war with ___________ in 1905
· ______________ peasantry

· Incompetence of Tsar ________________
· Military defeats and high casualties in _________________
	Expanded Information

· Tsarist Russia before WWI was an absolute monarchy, with sharp divisions between the nobility and the landless peasants.  Tsar Nicolas II did not resolve the complaints between the peasants and the workers.  During WWI, Russia suffered major military defeats with high causalities to the Germans.  Many Russian soldiers during WWI did not even have weapons.  

· This situation was further inflamed by the influence of a self proclaimed holy man named Rasputin on the Tsar’s German born wife, Alexandra.  In March of 1917, violence broke out over bread shortages and military defeats.  Nicolas II stepped down and a provisional government under the leadership of Alexander Kerensky was set up.




	How Did Communism Rise in Russia?

	SOL Essential  Details
	Expanded Information

	_________________ Revolution and civil war


	In October 1917, Lenin and the Bolsheviks overthrew the provisional government established after Tsar Nicholas II stepped down in March 1917.  Civil war broke out between the Communists (as the Bolsheviks renamed themselves) and the “Whites” (or those opposed to the Communists).  The Communists won and the Union of Soviet Socialists Republics (U.S.S.R) was formed.



	___________________ (person)
New Economic Policy


	The New Economic Policy (NEP) was an economic plan that allowed for some free enterprise but left heavy industry, banking and mining in the hands of the government.  The NEP replaced the policy known as War Communism that Lenin adopted during the Civil War.



	Lenin’s successor—___________________

	After Lenin died in 1924 a power struggle began over who would be his successor.  Ultimately, Stalin emerged as the clear leader of the U.S.S.R.


	“Use it or Lose It”

	Practice makes perfect!  Try to answer the following questions without looking back in your WINK book.  The first few questions are from Standard 10 and the rest are a “Blast from the Past” pulling from earlier standards.

1. The __________________________ forced Germany to accept guilt for WWI, give up territory, pay reparations and agree to limit the size of their military.
2. Whose assassination sparked the beginning of WWI?   
 
3. Where did the Renaissance begin? 

4. Who was the leader of Russia that ended Russia’s involvement in WWI?                          
5. Karl Marx wrote Communist Manifesto with Friedrich Engels.  What other book did he write?

6. Who was the leader of Russia during the first part of WWI? 

7. Identify two religions that were concentrated in Europe and the Middle East in 1500 AD.     
8. During the Catholic Counter Reformation, what group was founded to help spread the Catholic doctrine around the world?      
9. The pioneering role of _____________________________ was one of the factors contributing to the European discovery of lands in the Western Hemisphere.
10. Are Huguenots Protestant or Catholic?      

11. Who was the leader of Germany during WWI?     

12. During the reformation in Germany, a conflict between the Protestants and Catholics resulted in devastating wars.  What were these wars called?       
                                                                                             
13. When the Ottoman Empire conquered Constantinople, they renamed the city _______________. 
14. Name two dissenters prior to Martin Luther who worked to translate and spread the stories of the Bible into the languages of the people (the Bible and most church ceremonies were only available in Latin at that time).    



The History and Social Science Enhanced Scope and Sequence document from the V-DOE suggests the mnemonic “World War I was caused by M.A.N.I.A.C.S.!” as a way to remember the causes of WWI.  Use this memory aid or create a new one of your own.





Militarism


Alliances divide Europe into competing camps


Nationalistic feelings (desire for war)


Imperialism 


Alliances cause diplomatic failures


Competition over colonies in Africa/Asia


Serbian assassination of Archduke Ferdinand





(-from page 98 of the Enhanced Scope and Sequence from the Virginia Department of Education)





Did you know…?





The Germans considered the Treaty of Versailles to be a harsh peace.  The Treaty of Versailles laid the foundation for a Second World War which would start in 1939.
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